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QUESTION 1

Which of the following implementations does CAC have?
A. Based on channel utilization

B. Based on the number of users

C. Based on terminal SNR

D. Based on the number of APs

Correct Answer: ABC

QUESTION 2

When the WLAN supports inter-AC roaming, multiple ACs are fully meshed through tunnels. To ensure that STAs
roamed to another AC at Layer 3 can still receive broadcast packets from the original subnet, the AC on the subnet
broadcasts the packets to all the other ACs through tunnels. In this case, broadcast loops will occur.

A. TRUE

B. FALSE

Correct Answer: A

QUESTION 3

What are the ways to synchronize data in the WLAN hot backup mechanism?
A. Batch backup

B. Real-time backup

C. Timed backup

D. Incremental backup

Correct Answer: ABC

QUESTION 4

Which statement about roaming in the same VLAN pool is TRUE?
A. Only Layer 2 roaming is allowed.

B. Only Layer 3 roaming is allowed.

C. Both Layer 2 roaming and Layer 3 roaming are allowed.
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D. Layer 3 roaming is used for direct forwarding mode.

Correct Answer: A

QUESTION 5

The Agile Controller must sub-group the devices to facilitate the delivery of rules.
A. Correct

B. False

Correct Answer: B

Latest H12-321 Dumps H12-321 Practice Test H12-321 Study Guide

Latest H12-321 Dumps | H12-321 Practice Test | H12-321 Study Guide 3/3


https://www.pass2lead.com/h12-321.html
https://www.pass2lead.com/h12-321.html
https://www.pass2lead.com/h12-321.html
http://www.tcpdf.org
https://www.pass2lead.com/h12-321.html
https://www.pass2lead.com/h12-321.html
https://www.pass2lead.com/h12-321.html

